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SEE 2080 (2024) 

lj1fg tyf k|ljlw 

 

;do M # 306f           k"0f{fª\s M &% 
 

lbOPsf lgb]{zgsf cfwf/df cfˆg} z}nLdf l;h{gfTds pQ/ lbg'xf];\ . 

Write an answer in your own creative way on the basis of given 

instructions. 
 

;d"x …sÚ  (Group ‘A’) 

ax's}lNks k|Zgx¿M 

Multiple choice Question: 10x1=10 

!= tnsf k|Zgx?sf ;a}eGbf l7s ljsNk pQ/ k'l:tsfdf n]Vg'xf];\ . 

Write the correct alternative of the following questions in the 

answer sheet. 

 (a) tnsf dWo] s'gn] Pgfnu l;Ugnsf] k|ltlglwTj u5{ < 

 Which of the following represents analog signal? 

(i) OGk|mf/]8 /] ydf{]ld6/ Infrared ray thermometer 

(ii) sDKo'6/ Computer 

(iii) :df6{ 38l Smart watch 

(iv) ;6{ j]a /]l8of] Short wave radio 

 (b) zª\v]ls/fnfO{ lsg df]n:sf kmfOnddf /flvG5 < 

 Why is snail kept in Mollusca phylum? 

(i) z/L/, 6fpsf], le;]/n df;, df+zk]zL o'Qm v'§f / DofG6ndf ljefhLt 

x'G5g\ . 

 Body is divided into head, visceral mass, muscular foot and 

mantle. 

(ii) 6\o'j lkm6sf] ;xfotfn] rfn b]vfpF5 . 

 Locomotion shows with the help of tube feet. 

(iii) z/L/, 6fpsf], 5ftL / k]6df ljeflht x'G5 . 

 Body is divided into head thorax and abdomen. 

(iv) logLx¿ cf]l;nf] df6f] / kfgLdf kfOG5g\  . 

 They are found in moist soil and water. 

 (c) Zofdn] Pp6f kf]v/Ldf b'O{6f d]?b08 gePsf hgfj/x¿ P / Q b]v] . 

pgn] P nfO{ klxnf] ax'sf]ifLo hgfj/ / Q nfO{ klxnf] tGt' ljsf; ePsf] 

hgfj/ egL kQf nufP . oL ljz]iftf cWoog ubf{ pSt hgfj/ ;DaGwL 

tnsf] s'g syg d]n vfG5 . 

 Shyam saw two invertebrates P and Q in a pond. He found that P 

is the first multicellular animal and Q is the first tissue graded 
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animal. By studying these characteristics of the animals which of 

the following statement match? 

(i) hgfj/ P l8Knf]Anfli6s / hgfj/ Q l6«Knf]Anfli6s x'g\ . 

 Organism P is diploblastic whereas organism Q is 

triploblastic.  

(ii) P sf] z/L/df l5b| x'G5 eg] Q sf] z/L/ vf]j|mf] x'G5 . 

 Body of P bears pores whereas body of Q bears coelenteron. 

(iii) P / Q b'j}sf] z/L/ l8Knf]Anfli6s x'Fb}g .  

 The body of both P and Q are not diploblastic. 

(iv) P / Q b'j}sf] z/L/df 6]G6fsN; x'G5g\ . 

 The body of both P and Q has tentacles. 

(d) af]emf]sf] s'g efu cf}ifwLsf] ¿kdf k|of]u ul/G5 < 

 Which part of calamus is used for medicinal purpose? 

(i)  /fOhf]d (Rhizome)    (ii)  kft (leaf)    

(iii) kmn (fruits)   (iv)  k"mn (flower)  

(e) k[YjLsf] lk08 6 × 10
24

kg 5 eg] k[YjLsf] s]Gb|af6 12000 km b'/Ldf 

20kg lk08 ePsf] j:t'sf] tf}n slt x'G5 < 

What would be the weight of a body of mass 20kg at distance 

12000km from centre of the earth of mass 6 × 10
24

kg? 

(i)  35N    (ii)   45N    (iii)   55N    (iv)   25N 

(f) ;d'b|af6 uO/x]sf] hxfh gbLdf cfOk'Ubf w]/} kfgL lj:yflkt u5{, lsg < 

 A ship going from sea to river has to displace more water, why ? 

(i) pWj{rfk kl/jt{g x'gfn] (Change the buoyant force) 

(ii) pWj{rfk sd x'gfn] (lower the buoyant force) 

(iii) ;dfg pWj{rfk agfO{ /fVgfn] (maintain the same buoyant force) 

(iv) pWj{rfk a9L x'gfn] (Increase the buoyant force) 

 (g) lbOPsf] lrq cWoog u/L A / C klxrfg ug'{xf];\ . 

 Study the given figure and identify A and 

C? 

(i) A - (Red) /ftf],     C - (Yellow) kx]nf] 

(ii) A - (violet) a}hgL, C - (Red) /ftf] 

(iii) A - (Green) xl/of], C - (Violet) a}hgL 

(iv) A - (Red) /ftf],    C - (Violet) a}hgL 

 (h) xAansf] l:y/fª\s (H) sf] dfg slt x'G5 < 

What is the value of Hubble's constant (H) ? 

(i) 80km/s/Mpc                     (ii)  83 km/s/Mpc 

(iii) 70 km/s/Mpc                   (iv) 73 km/s/Mpc 

 

A 

C 
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(i) olb X Pp6f wft' xf] eg], tnsf] k|lj|mofdf X sf] ;+o'Hotf slt x'G5 < 

 If X is a metal, what is the valency of X in the following 

reaction? 

 X + 2HCl  XCl2 + H2 

 (i)   1          (ii)    2        (iii)   3        (iv)   4 

(j) sfj{lgs kbfy{x¿ h:t} v]/ uPsf] vfBkbfy{ dflg; / hgfj/x¿sf] 

dnd'q, kmf]x/ cflb hn k|b'if0fsf d'Vo ;|f]tx¿ x'g\ . kfgLdf x'g] cTolws 

sfj{lgs kbfy{sf] hlno hLjgx¿nfO{ xfgL k'¥ofpg] sf/0f tnsf dWo] 

s'g pQd xf] < 

 Organic matter is considered as a major source of water pollution 

caused by wastes of food, animal and human excreta, garbage etc. 

Which of the following is a threat to aquatic life due to the excess 

of organic matter in water?  

(i) hlno hLjx¿nfO{ 7fpFsf] cefj x'g' 

       The lack of space available to aquatic life 

(ii) ;"IdhLjx¿n] s'lxg] sfj{lgs kbfy{x¿af6 clS;hg pkef]u ug]{ 

ePsfn] 

 Microorganisms consume dissolved oxygen to decompose 

organic matter. 

(iii) ;fgf] hgfj/x¿n] sfj{lgs kbfy{x¿nfO{ vfgfn] . 

 Organic matter is swallowed by small animals. 

(iv) sfj{lgs kbfy{ s'lxFbf kfgLsf] tfkj|md a9\gfn] . 

 Decomposition of organic matter increases the temperature 

of water. 

;d"x …vÚ  (Group ‘B’) 

@= clt 5f]6f] pQ/ n]Vg'xf];\ M 9×1=9  
 Write very short answer of the following questions:  

(a) Pp6f k|of]udf, ljleGg tfkj|mddf kfgLsf] 3gTj gflkb}5 . of] k|of]udf 

cfl>t r/ s'g xf] < 

 In an experiment, density of water is measuring at different 

temperature. Which one is dependent variable in this experiment. 

(b) cfls{ldl8hsf] l;4fGt n]Vg'xf];\ . 

 Write the Archimedes' Principle. 

(c) cfofltt ls/0f / Odh]{G6 ls/0faLr Pp6f km/s n]Vg'xf];\ . 

 Write a difference between incident ray and emergent ray. 

(d) cfdfn] va/ klqsf k9\bf klqsfnfO{ 25cm eGbf k/ /fvL k9]s]f b]v/ 

/ljn] pgsf] cfFvf hrfpFg nu] . cfFvf k/LIf0f kZrft\ cfFvf ljz]if1n] 

pgLnfO{ s'g lsl;dsf] n]G; ePsf] rZdf nufpg ;'emfj lbP, xf]nfg\ < 
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 Ravi has taken his mother to ophthalmic as he saw her reading the 

newspaper keeping more than 25cm from her eyes. 

(e) 6«flG;kmd{/sf] k|fOd/L SjfOnsf] kmGsfsf] ;+Vof eGbf ;]s]G8/L SjfOnsf] 

kmGsfx¿sf] ;+Vof sd ePdf ef]N6]hdf s:tf] kl/jt{g x'G5 < sf/0f 

n]Vg'xf];\ . 

 What change occurs in output voltage if the number of turns in 

secondary coils is less than number of turns in primary coil? 

(f)  aGb a|Dxf08 / v'Nff a|Dxf08lar Pp6f km/s n]Vg'xf];\ . 

 Write a difference between closed universe and open universe. 

(g) kfgLsf] 3gTj ;aeGbf a9L slt tfkj|mddf x'G5 < 

 At what temperature density of water becomes the highest? 

(h) x]df6fO6nfO{ lsg kmnfdsf] d'Vo wfp dflgG5 <  

 Why is hematite ore considered chief ore of iron? 

(i) Oyfgnsf] ;+/rgf ;'q n]Vg'xf];\ . 

 Write the structural formula of ethanol.  

;d"x …uÚ  (Group ‘C’)  

5f]6f] pQ/ n]Vg'xf];\ M 

Write short answers. 14x2=28 

#= v
2
 = u

2
 + 2as

2
 eGg] ;dLs/0f ;lx of unt xf] < PsfOut k/LIf0f ug'{xf];\ . 

 Check the correctness of the equation v
2
 = u

2
 + 2as

2
 by using unit wise 

analysis. 

$= Ps bnLo lj?jfsf] b'O{j6f ljz]iftf n]Vg'xf];\ . 

 Write any two characteristics of monocotyledon plant. 

%= lbOPsf] cjwf/0ff lrq 

cWoog u/L X / Y df 

x]Knf]O8 / l8Knf]O 5'l§g] u/L 

j|mf]df]hf]dsf] ;+Vof n]Vg'xf];\ 

. 

 Study the concept map 

given alongside and 

mention the number of 

chromosomes in X and Y 

to distinguish haploid and diploid. 

^= dfO6f]l;; / ldof]l;; sf]if ljefhg lar b'O{cf]6f leGgtf n]Vg'xf];\ . 

 Write any two differences between mitosis and meiosis cell division. 

&= lnª\u lgwf{/0f k|lj|mofsf] ;DefJotf tflnsf agfpg'xf];\ . 

 Draw a probability table of the result obtained in sex determination. 

df}/L 
Honey Bee 

k|hgg\ of]Uo 
Fertile 

....X.... 

 

....Y.... 
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*= dflg;df /utsf] b'O{cf]6f sfo{x¿ n]Vg'xf];\ . 

 Mention two functions of blood on human body. 

(= lrqdf lbOPsf] hl8a'6Lsf] klxrfg u/L o;sf b'O{ 

pkof]lutf n]Vg'xf];\ . 

 Identify the medicinal plant shown in the figure 

and write its two uses. 

 

 

 

!)= u'?Tj k|j]u eg]sf] s] xf] < k[YjLsf] w|'jLo efudf u'?Tj k|j]usf ]dfg slt x'G5 < 

 What is acceleration due to gravity? What is the value of acceleration 

due to gravity on the pole of the earth? 

!!= olb A / B sf] lardf nfUg] u'?Tjfsif{0f an F 

5 eg] B / C sf] lardf nfUg] u'?Tjfsif{0f an 

F sf] slt u'0ff x'G5 < 

 If the given gravitational force between A 

and B is F. What is the gravitational force 

between B and C in terms of F? 

!@= On]lS6«s df]6/ / h]g]/]6/lar s'g} b'O{ leGgtfx¿ n]Vg'xf];\ . 

 Write any two differences between electric motor and generator. 

!#= wg'iffsf] 9Ns]j/ ef/ ;Dk|]if0f s]Gb|n] 400 KVsf] ljB'tnfOg k|;f/0f ug{' 5 eg] 

s'g lsl;dsf] 6«fG;kmd{/ k|of]u ug{' k5{ < o;sf] lrq lvrL k|fOd/L -Ogk'6_ 

SjfOn / ;]s]08/L cfp6k'6 SjfOn b]vfpg'xf];\ . 

 If the load transmission at Dhalkevar Dhanusha transmits electricity of  

400KV, then which type of  transformer is used here? Also, draw 

figure showing  primary (input) coil and secondary (output) coil in it. 

!$= Pp6f ljs/df ePsf] sk/;Nk]m6sf] 3f]ndf Pp6f lh+ssf] kftnf] kftf /fv]sf] 

lyof] . k/LIf0f ubf{ yfxf eof] ls lgnf] /ªsf] 3f]n lkmSsf x'Fb} uof] . s]xL 

lbgkl5 lh+ssf] kftf 3f]naf6 lgsfNbf To;df w]/} ;fgf] ;fgf]] l5b|x¿ b]vfk¥of] 

. o;sf] sf/0f / o;df x'g] k|ltlj|mofsf] /f;folgs ;lds/0f n]Vg'xf];\ . 

 A thin zinc plate was kept in a glass container having copper sulphate 

solution. On examining, it was found that the blue colour of the 

solution is getting lighter and lighter. After few days when zinc plate 

was taken out of the solution a number of small holes were noticed in 

it. State the reason and write the chemical equation of the reaction. 

!%= Pp6f dgf]xfOl8«s cNsf]xn h'g ydf]{d]l6«s t/nsf] ?kdf / l;l/Gh tyf 

3fpx¿df lg:;+j|md0f kbfy{sf] ?kdf k|of]u ul/G5 . o;sf] cfwf/df tnsf 

k|Zgx¿sf] pQ/ n]Vg'xf];\ . 
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 A monohydric alcohol is used as thermometric liquid and as 

disinfectant in syringe and wounds. On the basis of this statement, 

write the answer of following questions. 

(a) pSt cNsf]xnsf] ;+/rgfTds ;'q n]Vg'xf];\ . 

  Write structural formula of that alcohol. 

(b) pSt cNsf]xn kg]{ xf]df]nf]u; ;]l/hsf] rf}yf]df kg]{ cNsf]xnsf] cg';'q 

n]Vg'xf];\ . 

 Write the molecular formula of fourth member of alcohol of the 

homologous series in which the given alcohol lies.  

  

!^= vfB kbfy{df g'g jf lrgL /fVbf JofS6]l/ofsf] a[l4 x'gaf6 s;/L /f]Sb5 < 

 How is bacterial growth inhibited by salting or adding sugar in food 

materials? 

 ;d"x …3Ú  (Group ‘D’) 7×4 = 28 

!&= cfhef]ln ;fdflhs ;~hfnaf6 ;fyLefO;Fu s'/f ug'{kbf{ facebook Dof;]Gh/sf] 

klg k|of]u ul/G5 . 

 (a) Messenger h:t} sfd ug]{ cGo s'g} b'O{cf]6f ;fdflhs ;~hfnsf] gfd 

n]Vg'xf];\ . 

  Write the name of other two applications used like messenger. 

 (b) o:tf ;fdflhs ;~hfnx¿nfO{ tkfO{x¿n] cfˆgf] cWoogdf s;/L k|of]u 

ug{ ;Sg'x'G5 < b'O{ a'Fbfdf n]Vg'xf];\ . 

  How do you apply these applications to improve your study? Write 

two points. 

!*= s[lqd uef{wfg (AI) / Og le6«f] kml6{nfOh]zg (IUF) b'j} ;xfos k|hgg\ ljlw 

x'g\ . o; tYosf cfwf/df lgDg k|Zgx¿sf] hjfkm lbg'xf];\ . 

 Artificial Insemination (AI) and in vitro fertilization are both assisted 

reproductive technologies. Based on this fact, answer the following 

questions. 

(a) "AI k|ljlwn] cfd s[ifssf] d'xf/df v';L Nofpg ;kmn ePsf] 5 .Æ of] 

egfOnfO{ cfˆgf b'O{ ts{åf/f k'li6 ug'{xf]; \ . 

 "AI technology helped to bring happiness to the farmer." Justify 

this statement with your two opinions. 

(b) ælgM;Gtfg bDktLsf nflu IVF j/bfg ;fljt ePsf] 5 .Æ of] egfOnfO{ 

k'li6 ug]{ b'O{6f sf/0fx¿ k]z ug'{xf];\ . 

 "IVF is proved to be a boon for childless couples." present two 

reasons to prove this statement. 

!(= KnfHdfsf s'g} rf/ sfo{x¿ n]Vg'xf];\ . 

 Write any four functions of plasma. 



RE- 1041 

7 
 

@)= 6«ssf] lx6 OlGhg lr:ofpg kfgLsf] k|of]u ul/G5, lsg <  

    cfs[ltn] tLgcf]6f jflN6g A, B, C lnOg . pgn] 88
0
c tftf] 12kg kfgL 

aflN6g A df / 13
0
c tftf] 24kg kfgL aflN6g B df /flvg / oL b'j} kfgLnfO{  

ld;fP/ aflN6g C df /flvg eg] C aflN6gsf] kfgLsf] clGtd tfks|d slt 

x'G5 < -kfgLsf] ljlzi6 tfkwf/0f Ifdtf 4200 j/kg
0
c 5, aflN6gn] lng] tfkj|md 

guGo 5 . 

 Water is used to cool the heat engine of truck, why?  

      Aakriti took three buckets named A, B and C. She kept 88
0
c hot 12kg 

water in bucket A and 13
0
c hot 24 kg water in bucket B. She mixed 

them and kept in bucket C. What is the final temperature of water in 

bucket C? (Given that specific heat capacity of water is 4200 J/Kg
0
c 

and neglects the heat taken by the bucket.) 

@!= ;Fu} lbOPsf] lrq sGe]S; n]G;n] agfpg] 

/]vflrqsf] ;fª\s]lts lrq xf] . pSt lrq cWoog 

u/L lgDg k|Zgx¿sf] pQ/ lbg'xf];\ . 

 The schematic ray diagram of a convex lens 

is given alongside. Study the diagram and 

answer the following questions. 

(i) lrqdf j:t' AB sf] cfs[lt aGg] k|lj|mofsf]  

lrq k"/f ug'{xf];\ . 

   Complete the diagram given alongside to form the image of the 

object PQ. 

(ii) o;af6 aGg] cfs[ltsf] b'O{ b'O{cf]6f ljz]iftfx¿ n]Vg'xf];\ . 

  Write any two characterisitcs of image formed from it. 

(iii) o; k|sf/sf] /]vflrq k|of]u x'g] Pp6f pks/0fsf] gfd n]Vg'xf];\. ;fy} 

To;sf] sfd klg n]Vg'xf];\ . 

  Name a device in which this ray diagram of lens is used and also 

mention an application of this device. 

@@= tn ;f]lwPsf k|Zgx?sf] pQ/ n]Vg'xf];\ .  

 Write the answer of the following questions. 

 (i)On]S6f«]lgs ljGof; 1S
2
, 2S

2
2p

6
, 3s

2
3p

6
, 4S

1 
ePsf] tTjsf] gfd . 

 Name of element having electronic   

            configuration as: 1S
2
, 2S

2
2p

6
, 3s

2
3p

6
, 4S

1
 

(ii) ;f]l8od afx]ssf] Pp6f cNsfnL wft'sf] gfd .  

Name of an alkali metal other than sodium. 

(iii) l;lnsg afx]ssf] Pp6f d]6fnf]O8sf] gfd .  

Name of a metalloid other than silicon. 

 



RE-1041 

8 
 

(iv) DofUg]l;od afx]ssf] Pp6f cNsfnfOg cy{ d]6nsf] gfd . 

Name of an alkaline earth metal other than magnesium. 

 

@#= k|of]uzfnfdf Pdf]lgof UofF; agfpg] ljlwsf] gfdflª\st lrq sf]g'{xf];\ . of] 

Uof; k/LIf0f ug]{ Pp6f tl/sf n]Vg'xf];\ . 

 Draw a well labeled diagram of laboratory preparation of amonia gas 

and write down a method to test the gas. (1+2+1) 

  

 

 

 

 

 


